
jg, jftfj/0f tyf ljkb\ Joj:yfkg ;ldlt M

1

dgfp :s"nb]lv *Ddf/f ;Dd u"uL{ gbL h}ljs 

t^aGwg dgfp, *Ddf/f  j*f g+= 1 400

2 u"uL{ gbL h}ljs t^aGwg, la;gk'/ j*f g+= 1 200

3

xl/gu/ s^}gL gfnf s^fg lgoGq)f t^aGwg 

tyf rf}tf/f lgdf{)f j*f g+= 1 450

4

%f*f rf}kfof lgoGq)f ug{ agb]jLdf sflGh 

xfp; lgdf{)f dem/f j*f g+= 1 150

5 sfsL{̂ f]n pRr gNsf lgdf{)f xl/gu/ j*f g+= 1 50

6

dlg/fh zdf{sf] v]t b]lv emf]n]ª\u] k"n;Dd 

s^}gL glb h}ljs t^aGwg /fdk"/ j*f g+= 2 450

7

nSs* ufpb]vL u'uL{ aFw;Dd s^}gL gbL 

t^aGwg nSs* j*f g+= 2 400

8 Sna #/df pRr gNsf lgdf{)f *f]ª\uk"/ j*f g+= 2 50

9

cfdf ;d"x ;fd'bflos jgdf /fh" tfn dd{t 

;+ef/ /fdk"/ j*f g+= 2 50

10

g;{/L lj?jf tyf a}!flgs jg Joj:yfkg 

;DaGwL tflnd l^l;og j*f g+= 3 150

11 df]xgf gbL h}ljs t^aGwg vf]gk"/ j*f g+= 3 400

12

g;{/L ;+/If)f, df]xgf gbL h}ljs t^aGwg 

nfnk"/ j*f g+= 3 200

13 df]xgf gbL h}ljs t^aGwg df]xgk"/ j*f g+= 3 200

14 au/ pmv' v]tL k|j${gfTds sfo{qmd df]xgk"/ j*f g+= 3 100

15 lzj/Tgk'/ ;'/lIft #/ dd{t ;+ef/ j*f g+= 3 100

16

ldng ;fd'bflos ag ;+/If)f #"/xf gbL h}ljs 

t^aGwg s] ufp vNnf j*f g+= 4 300

17 #"/xf gbL h}ljs t^aGwg ;"Gb/k"/ j*f g+= 4 300

18 Pstf ;fd'bflos jg ejg lgdf{)f ;"Gb/zlQm j*f g+= 4 450

19

/lanfn rf}w/Lsf] #/lg/ pRr gNsf lgdf{)f 

k|ult ^f]n  j*f g+= 4 50

20 la;gk"/ df]xgf gbL h}las t^aGwg j*f g+= 5 300

21 ergf k"n ;+/If)f t^aGwg kmNsfk"/  j*f g+= 5 300

22 ;"ld{gfnf ahf/ glhs t^aGwg ;"ld{gfnf j*f g+= 5 250

23

;"/lIft ;*s lgdf{)f tyf dd{t ;+ef/ 

dlgsfk"/ j*f g+= 5 500

24 %f]l^klnof blIf)f ^f]n pRr gNsf lgdf{)f j*f g+= 5 50

25

g;{/L lj?jf pTkfbg tyf a}!flgs ag 

Joj:yfkg tflnd j*f g+= 6 150

26 uf}slGb| gfnf h}ljs t^aGwg wdf{k"/  j*f g+= 6 400
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27

;fndf%f ;fd"bflos ag tfn ;+/If)f, dd{t 

;+ef/ -gy'lgof,g/bx'jf,;'vlnof tfn_ v/]^L j*f g+= 6 250

28 df]xgf gbL h}ljs t^aGwg /tgk"/ j*f g+= 7 450

29 df]xgf gbL h}ljs t^aGwg df]xgk"/ j*f g+= 7 400

30

a;Gtf hl*a"^L k|zf]wg s]Gb| dd{t ;+ef/ 

a;Gtf  j*f g+= 7 50

31

nf}^x"jf tfn ;+/If)f tyf dd{t ;+ef/ 

df]xgk"/kfl/ j*f g+= 7 50

32
ljktk"/ d'Qm sd}of lzlj/ pRr gNsf lgdf{)f j*f g+= 7 50

33
ldngk"/ d'Qm sd}of lzlj/ pRr gNsf lgdf{)f j*f g+= 7 50

34 s^}gL glb h}ljs t^aGwg v}/L ^f]n j*f g+= 8 400

35

>L /f=h=cf=lj= b]lv nf]x/k'/ ;Dd h}ljs 

t^aGwg s^}gL gbL j*f g+= 8 400

36 blIf)f v}/L ^f]n pRr gNsf lgdf{)f j*f g+= 8 50

37

sf]O{nfxf ;fd'bflos jg ;ldlt ejg lgdf{)f 

;fd/rf}/f j*f g+= 9 450

38 ;'dLufp ;"dL{gfnf cw"/f] t^aGwg lgdf)f{ j*f g+= 6 400

39 kmf]x/d}nf ;+sng ;fdu|L vl/b tyf ljt/)f k|To]s j*fdf 300

40

;fj{hlgs k|lt hUuf tyf vfnL :yfgdf 

j[Iff/f]k)f÷;+/If)f -j*f dfudf cfwfl/t_ k|To]s j*fdf 900

41 ljkb\ Joj:yfkg sf]if :yfkgf ufpkflnsf 3000

s"n hDdf 13600
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